Calcul littéral - Fonctions

Réduction d'expressions

8xa= (-9) xa= ax10= 2x 3xa=
5x ax7= ax8x2= 7xaxb= ax5xb=
ax2xbx7-= ax a= S5xaxa= ax8xa=
ax2x(-10)xa= 2a x 3b = 2a x 5a = ax8x(-5)=

2a + 3a = 2a+5a+3a+a= 2a +3a —3a+5a-= 2a—2a+2a-2a-=
la= 2b+3b = 5b-2b = 8b-b =

7a + 0,8a = 7/b—-7b = —6b + 6b = —2a-2a =

2,5a + 3,5a = —3a+3a = 3a—-5b+5b-3a+2b=

5a + 2a = Sa+ 2= 10a—-3a = 10a-7 =
2x7a= -4x(-3a)= 3ax2 = 2-7a=
4a x 3b = 2a + 3b = ax4s= 2ax(-5b) =

§M=m+ a+3 §N=_a+6+a ;o=4_a—7+12a §P=5+7a—4a
M = N = = =
E'Q""'3"%"5'51'7'5"—"1'""""" R=3+5-7 -8 iS=a+5+3a+2a T' =6a+6+8-a -5 |
3 . F.'.‘FT?_'_“_?!‘_‘E'_‘F_ 5 P‘?Y?_"_’PR‘? les expressions suivantes .
U=3x(a+5) V=—-6x(a+3) 'W=10x(a-3) =5x(-a+2)

= V = W = =
Y=3(2a+6) =-5(4a+1) ‘T=8(8-3) =-5(2a -8)
Y = = §T= =
‘I=7(2a+6b+3) 'J=-1(8a+2b-3) 'K=-3(10a-3b+9) L=-1(-2a +8-13b)
1= 3= K= L=



